Hillstone Primary School - Arithmetic test

Mathematics
Arithmetic: Paper 7 - xand + 10, 100, 1000

12
total marks

[ Name

]

[ Date

J

P O ® @

38+10=

1 mark

54x100 =

5400

1 mark
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420+ 1000 =

- + + ¥ - + + *
- + - - * - - - - + +
- + + * - + + +
- + * * - +

0.42

0.24x100 =

* * +* ¥ - * * *
- + - - * - - - - + +
- #* * * - * * *
- + * * - +

24

* ¥ * ¥ & # * *
- + - - * - - - - + +
- #* * * - * * *
- + * * - +

100
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830.1 + = 8.301
100
+ 100 = 32.94
3294
x 10 = 7.26
0.726
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9 6% +10=
3.6
10 | 24.72x10=
247.2
11 | 32.7+1.23 12 | 6516+3=
| |
| |
| |
| |
| |
3393 2172
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